~85 PERCENT OF “INCOME” COMES FROM PAYMENTS TO THE LABOR FACTOR OF PRODUCTION

WE CAN UNDERSTAND MOST OF THE SOURCES AND VARIATIONS OF INCOME BY UNDERSTANDING MARKET VALUE OF LABOR (LEISURE)
LEISURE IS AN ECONOMIC GOOD  -  THE MARKET VALUE OF GOODS IS DETERMINED BY 



SUPPLY  AND  DEMAND

SUPPLY

THE MARKET SUPPLY OF LABOR IS SUM OF INDIVIDUALS’ SUPPLY 

AND 

THE SUPPLY OF INDIVIDUALS’ LABOR IS SIMPLY THE INVERSE OF THEIR DEMAND FOR LEISURE

DEMAND

THE DEMAND FOR LABOR

LABOR IS DEMANDED BECAUSE IT PRODUCES VALUABLE PRODUCT

 COMPLEX PRODUCTION IMPLIES

INITIALLY “INCREASING RETURNS TO SCALE”

But eventually 

DIMINISHING RETURNS - DOUBLE ALL VARIABLE INPUTS RESULTS IN LESS THAN A DOUBLING OF OUTPUT

EMPLOYMENT DECISION 

HIRE ADDITIONAL WORKERS IF 

THE BENEFIT (VALUE OF THE MARGINAL PRODUCT)
    EXCEEDS


 THE COST (THE WAGE RATE)

THE DEMAND FOR LABOR IS GIVEN BY THE DECLINING PORTION OF THE VALUE OF THE MARGINAL PRODUCT

THE MARKET WAGE RATE IS DETERMINED BY 
THE DEMAND BY ALL “EMPLOYERS” 
AND 
THE SUPPLY OF LABOR SERVICES

TO INCREASE THE AVERAGE WAGE ->


INCREASE DEMAND 


REDUCE SUPPLY

PARAMETERS OF DEMAND FOR LABOR

TECHNOLOGY

OUTPUT PRICE

AMOUNT OF “CAPITAL”

PRICE OF OTHER INPUTS

BASIC THEORY EXPLAINS THE AVERAGE WAGE

WAGES VARY WIDELY

WHAT EXPLAINS THE WIDE VARIANCE IN THE VALUE OF INDIVIDUAL’S LABOR??

1.  ABILITY

2.  EDUCATION

3.  EXPERIENCE

4.  EFFORT

5.  LUCK
(CHANGES IN THE DEMAND OR SUPPLY) 

6.  UNIONS

7.  DISCRIMINATION

8.  JOB CHARACTERISITCS

EDUCATION - RATE OF RETURN ON INVESTMENT ~ 10%.

DOES YOUR PRODUCTIVITY INCREASE BY 10%??

HOW DO EMPLOYERS MEASURE AND REWARD ABILITY AND EFFORT?

USE PROXY VARIABLES

NEATNESS OF APPLICATION

TIE AT INTERVIEW

IS A COLLEGE DEGREE A PROXY FOR

        ABILITY?

  WORK RELATED EFFORT?

INVESTING IN EDUCATION REQUIRES YOU TO SPECULATE  -- 

WHAT WILL WAGES BE WHEN YOU GRADUATE??
MANY OTHER INVESTMENT SITUATIONS ALLOW RISK TO BE “TRADED” TO SPECULATORS.
SPECULATORS THEN ASSURE THAT CURRENT PRICES CARRY INFORMATION ABOUT FUTURE PRICES.

HOWEVER, THERE IS NO “FUTURES MARKET” FOR LABOR AND ALSO NO ABILITY TO HOLD INVENTORIES

THEREFORE, THERE IS NO MARKET MECHANISM TO 

- TRANSFER RISK

- CAUSE CURRENT PRICES TO INCORPORATE             

  EXPERTS PREDICTIONS

AS A CONSEQUENCE, EDUCATION MARKETS CAN AND DO EXHIBIT PRICE CYCLES

UNIONS

1.  ACT AS INFORMATION CONDUIT CONCERNING PUBLIC GOODS ASPECTS OF EMPLOYMENT

-BENEFIT PROGRAMS

-WORKING CONDITIONS

-HOURS

2.  SUPPRESS COMPETITION AMONG EMPLOYEES 

- RAISING WAGE ABOVE WHERE SUPPLY EQUALS DEMAND

EFFECT:

CREATES A “JOB SHORTAGE”

DO UNIONS INCREASE THE WAGES TO WORKERS??

WHY ARE UNIONS FREQUENT TARGETS OF DISCRIMINATION LAWSUITS??

WHY ARE UNIONS VIGOROUS SUPPORTERS OF 

INCREASED MINIMUM WAGES 

INCREASED TARIFFS ON IMPORTS?

DISCRIMINATION IN WAGES

WAGE DISCRIMINATION OCCURS WHEN WAGE DIFFERENCES ARE BASED ON PERSONAL CHARACTERISTICS 

-AGE

-SEX

-RACE

-APPEARANCE

STATISTICAL DISCRIMINATION - PERSONAL CHARACTERISTICS CORRELATED WITH SOME FACTOR IMPORTANT IN EMPLOYMENT

-EXPECTED LONGEVITY

-EXPECTED UNINTERRUPTED EMPLOYMENT

AVERAGE WAGE EQUALS V. M. P.

TASTE BASED DISCRIMINATION - PERVERSE TASTE OF (EMPLOYER, FELLOW EMPLOYEES, CUSTOMERS) REQUIRES COMPENSATION TO EMPLOY

AVERAGE WAGE IS LESS THAN V. M. P.

TASTE DISCRIMINATION CREATES PROFIT OPPORTUNITY

MALE AND FEMALE WAGE DIFFERENCES

AVERAGE WEEKLY EARNINGS

MALES

$648

FEMALES
$279
(43%)

FULL TIME
MALES

$765

FEMALES
$543
(71%)

PROFESSIONALS
MALES

$849

FEMALES
$671
(79%)

FULL TIME, COLLEGE GRAD, 25-34
MALES

$712

FEMALES
$584
(82%)

OB GYN, FULL TIME
MALES

$3500

FEMALES
$3038
(82%)

OB GYN, FULL TIME, SELF EMPLOYED
MALES

$3269

FEMALES
$2877
(88%)

OB GYN, FT, SELF EMPLOYED, NEVER MARRIED

MALES

$3138

FEMALES
$3013
(96%) 

JOB CHARACTERISTICS

WHAT DETERMINES WHETHER EMPLOYEE IS PAID MORE OR LESS FOR PARTICULAR ASPECTS OF EMPLOYMENT??

DAY VERSUS NIGHT WORK

INSIDE VERSUS OUTSIDE

MENTAL VERSUS PHYSICAL

NO INTRINSIC BASIS TO VALUE THESE FACTORS - MARKET VALUE GIVEN THROUGH INTERACTION OF THE DEMAND FOR WORKERS IN VARIOUS JOBS AND THE TASTE OF WORKERS
COMPARABLE WORTH - ATTEMPT TO DETERMINE VALUE OF JOB CHARACTERISTICS THROUGH SURVEYS OF WORKERS  

ECONOMIC APPROACH - MARKET GIVES THE EQUILIBRIUM VALUE.  COMPARE VALUES WITH COMPETITION TO VALUES IN SECTOR PROTECTED FROM COMPETITION.

EXAMPLE - UNIVERSITY OF WASHINGTON COMPARABLE WORTH STUDY 

SURVEY OF WORKERS FOUND THAT THE JOB CHARACTERISTICS FOR A TRUCK DRIVER 1 WERE EQUALLY VALUED TO THOSE OF A SECRETARY 1.
BUT 

UW TRUCK DRIVERS 
- 98% MALE 








- $480 per week

UW SECRETARIES

- 92% FEMALE








- $360 per week

DOES THIS DATA INDICATE DISCRIMINATION AGAINST FEMALES??

PRIVATE SECTOR, NON-UNION

TRUCK DRIVERS 

- 89% MALE 








- $380 per week

SECRETARIES


- 94% FEMALE








- $335 per week

USE OF MARKET VALUES OF JOB CHARACTERISTICS TO ASSIST IN EFFICIENT SOCIAL DECISIONS - EXAMPLE OF JOB SAFETY

RISKY JOBS
- EXTRA DEATHS PER YEAR





- CHOKE SETTERS

     50/10,000





- FACTORY PAINTERS
     35/10,000





- STREET POLICE                 25/10,000





- COLLEGE PROFESSORS -10/10,000

WAGE ANALYSIS - RECEIVE EXTRA $1,000 PER YEAR PER 1 PER 1000 EXTRA DEATH RISK

VALUE OF A LIFE = $1,000,000

MOUNT SI - 500,000 HIKERS  - 1 DEATH PER YEAR

GUARD RAILS WOULD PREVENT  

COST $50 MILLION

EFFICIENT??

PROFESSOR LEFFLER IS DANGLING OFF A BRANCH  -  $5,000,000 TO SAVE - EFFICIENT??

IF COMPETITION AMONG EMPLOYERS AND WORKERS LEADS TO AN EQUILIBRIUM WAGE, HOW DOES UNEMPLOYMENT OCCUR?

??NOT ENOUGH JOBS??

UNEMPLOYMENT - THE SUPPLY OF LABOR EXCEEDS THE DEMAND AT THE CURRENT WAGE LEVEL.

PROBLEM - WAGE IS TOO HIGH

WE EXPECT COMPETITION FOR THE “SCARCE” JOBS TO LEAD TO LOWER WAGES

ECONOMIC FACTORS THAT CAN EXPLAIN INFLEXIBILITY IN THE WAGE

- PRICE CONTROLS (MINIMUM WAGES, UNIONS)

- UNCERTAINTY AND THE COSTS OF RAPID      

  ADJUSTMENTS

HOW DOES UNCERTAINTY AND THE COSTS OF ADJUSTMENTS LEAD TO UNEMPLOYMENT?

CONSIDER AN ADJUSTMENT

DOT COMs GO BELLY UP

DEMAND DOWN FOR PROGRAMMERS

DEMAND UP IN ?? 

??INVESTMENT ADVISE?? ANTITRUST? HOME REMODEL??

WHAT’S THE NEEDED SOCIAL RESPONSE

HIGH TECH WORKERS RETRAIN AS CARPENTERS?

WHAT WILL WE OBSERVE AT CISCO?

LAYOFFS

WHAT’S THE LAID OFF CISCO WORKER LIKELY TO DO?

HE OR SHE IS A “$65,000 SKILLED WORKER”

   LOOKS FOR A JOB AT OTHER TECH FIRMS

LOOKS FOR A JOB AT MIS DEPARTMENTS OF OTHER FIRMS

   LOOKS FOR COMPARABLE SKILL JOB IN 


THE AREA

   LOOKS FOR COMPARABLE SKILL JOB OUT 

OF AREA 

   TAKES EARLY RETIREMENT (ON 

UNEMPLOYMENT)

EVENTUALLY LEARNS HE OR SHE IS NO LONGER A $65,000 SKILLED WORKER.

CHANGE THAT LEADS TO REDEPLOYMENT OF LABOR RESOURCES INTO DIFFERENT SECTORS OF THE ECONOMY CAUSES UNEMPLOYMENT 

SINCE 

IT TAKES TIME FOR WORKERS TO REALIZE THAT THE VALUE OF THEIR SERVICES HAS CHANGED

EXAMPLES OF CHANGES THAT CAUSE UNEMPLOYMENT
OPEN UP FREE TRADE WITH MEXICO

CONSUMERS INCREASE SAVINGS

GOVERNMENT CUTS DEFENSE SPENDING

